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Choose the appropriate conjunction for the given sentence:

he got married to that rich woman, he gave up his job.

A.On the other hand
B.As soon as
C.Though

D.Moreover

B.As soon as
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Reference 1D:(24466) Choose the correct form of modal auxiliary verb for the given sentence:

Rose is over three-quarter hours late already. She have missed the bus again.

A.should

B.must



Answer:

Reference 1D:(24486)

Answer:
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Answer:

Reference 1D:(24465)

Answer:
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C.will

D.can

B.must
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Choose the appropriate prepositional phrase for the given sentence:

Although the partners were , they succeeded in paying our bill.

A.in debt
B.in dept
C.in depth

D.on debt

A.in debt

Which of the following options best combines the two given sentences?

| gave you some flowers. Where are they?

A.Where did you keep the flowers that | gave you?
B.Where are the flowers that | have given you?
C.Where are the flowers that | gave you?

D.Where the flowers that | given you?

C.Where are the flowers that | gave you?
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Answer: A.10,580
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Choose the appropriate articles for the given sentence:
life would be so very different without technology.
A.A, the
B.The, the
C.No article, a

D.No article, no article

D.No article, no article
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Reference 1D:(24457) Choose the appropriate collective noun to complete the given sentence:

The members of the gave an adverse verdict to the convict in the court.

A.jury
B.panel
C.judges

D.lawyers

Answer: A.jury

Reference 1D:(24474) Choose the correct form of tense for the given sentence:

You more careful in the future

A.were being
B.should be
C.was being

D.can be

Answer: B.should be
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Answer: C.I9IR

Reference 1D:(24452) Choose the option that has the correct spelling for the missing word in the given sentence:

Internet does more harm than good to children nowadays; it is really a ___ of modern life.

A.ban

B.baneful



C.bane

D.bain

Answer: C.bane

Reference 1D:(24458) Choose the appropriate collective noun to complete the given sentence:

There isn’t any paper in the printer; could anyone insert a of paper into it,
please?

A.ream
B.reel
C.heap

D.set

Answer: A.ream
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Answer: B

Reference 1D:(24456) Choose the correct form of adjective for the given sentence:

She does not say what she has in mind. She says only what her boss likes to hear from
her. She is not

A.good
B.sincere
C.loyal

D.faithful

Answer: B.sincere
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Reference 1D:(24463) Choose the correct form of verb that is in agreement with the subject:
The Prime Minister and his associates off to Delhi in chartered flight.

A.is, his
B.are, their
C.are, his

D.is, their

Answer: C.are, his
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Answer: B.dRATd

Reference 1D:(24473) Out of the following options, identify a complex sentence:

A.Your time limit has long been up.
B.Jack and Jill went up the hill.
C.Whoever signs the lease is responsible for the rent.

D.There is a fly in the car with us.

Answer: C.Whoever signs the lease is responsible for the rent.
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Reference 1D:(24454) Choose the appropriate option with the correct punctuation marks for the given sentence:

That elderly man Amits Grandfather expired today

A.That elderly man, Amit's grandfather, expired today.
B.That elderly man, Amits Grandfather, expired today.
C.That elderly man Amit’s Grandfather expired today.

D.That’s elderly man Amit’'s Grandfather, expired today.

Answer: A.That elderly man, Amit's grandfather, expired today.
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Answer:
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Answer:
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Answer:
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Choose the option with the appropriate suffix to complete the given sentence:
Do you enjoy going to theatre perform ?

A.-ances
B.-ing
C.-ers

D.-ables

A.-ances

Choose the option with the appropriate suffix to complete the given sentence:
Real___is not often shown in movies.

A.-ness

C.-ly

D.-istic

B.-ity
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Answer: B.3d

Reference 1D:(24467) Choose the appropriate prepositions for the given sentence:

We stayed ___ a nice hotel when we were New York, which was Church Street.

A.in, on, at
B.at, in, on
C.on, to, by

D.by, in, of

Answer: B.at, in, on
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Choose the correct form of adjective for the given sentence:

Waiter, | need a cup of coffee.

A.strong
B.powerful
C.thick

D.heavy

A.strong
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Choose the correct form of phrasal verb for the given sentence:

He was such a miser that he would not even ten rupees for the charity appeal.

A.pay up
B.pay off
C.part with

D.part out



Answer: C.part with
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Answer: A SRTIG
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Answer: A.?‘Sﬁ &=
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C.TEIE dheliaR S0l gedl 813, Xahdld.

D AT dhefiar Seun gedl 813, YdhdTd.

Answer: C.TEE deliaR Sau0l ged 813, Xahdld.
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Answer: B.127
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C. 31! Tai-il HearhTast T8 Id.

D. HeThTA] T FAoTuT TgTal Aara.

Answer: B IeHTPHTs TBT S, BT STET JAoTUr?

Reference 1D:(24464) Choose the most suitable determiner for the given sentence:
A real yogi is the one who is too happy too sad in any situation.

A.nor, neither
B.neither, nor
C.nor, either

D.or, neither

Answer: B.neither, nor
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B.1724.05 3.
C.1578.20 ¥.

D.1810.05 ¥.

Answer: B.1724.05 3.

Reference 1D:(24459) Choose the appropriate articles for the given sentence:
Mime is type of performance carried out without use of props or language.
A.the ... an
B.a ... the
C.no article required ... an

D.no article required... no article required

Answer: B.a ... the
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C.5Ic

D41
Answer: C.glc
Reference 1D:(24453) Choose the appropriate option with the correct punctuation marks for the given sentence:

the doctor said to the patient you should not smoke

A.The doctor said to the patient; “you should not smoke”

B.The doctor said to the patient, you should not smoke.

C.The doctor said to the patient “you should not smoke”

D.The doctor said to the patient, “You should not smoke.”

Answer: D.The doctor said to the patient, “You should not smoke.”

Reference 1D:(24451) Choose the option that has the correct spelling for the missing word in the given sentence:

Since ages, women have been from entering burial grounds.

A.forbiden
B.farbiden
C.forbiddan

D.forbidden

Answer: D.forbidden

Reference 1D:(24470) Choose the appropriate conjunction for the given sentence:

Markish teaches both English Math.

A.and
B.or
C.as well

D.but

Answer: A.and

Reference 1D:(24497) Wit IUIfaRfRd e HI0MT?

A.3rfId

B.3d



C.3ay

D. &I

Answer: C.3ag

Reference 1D:(24478) fercrenn wataitet arg fasgrf uaf e,
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AT
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Answer: ACL G

Reference ID:(24746) SR 7205AB BT 45 A fAUTST 3(8d, dR AB BT 31 Xehdl:

A.55
B.22
C.85

D.60

Answer: C.85

Reference 1D:(24734) R gfeegesr aSiaR 4 Al Arefaseyo Has FHat. R amde $iF 8 TR Fme fr
YT e T SryeT YU BT g2

A.240/427
B.320/1148
C.640/1281

D.880/1692

Answer: C.640/1281

Reference 1D:(24471) Choose the most appropriate usage to fill in the blank in the given sentence:
The children displayed all their exhibits before the parents on the Annual Day.

A.enthuse
B.enthusiasm
C.enthusiastically

D.enthusiasts

Answer: C.enthusiastically



Reference 3UAIGIdS WecdiaTd! Ufgedn dieia wiftieprungR ufgean srdiemr fRera arauarang! dewafer 3R,
ID:

(24718)
A.30 fead
B.45 fad
C.60 faaq
D.75 fead

Answer: B.45 fdag

Reference ID:(24704) HERIYT WU S fofeg —ASTRIE TeHToN IaTEIad ST QRIS HRard?

AYHSRT
B.®IeeIqR

C. AR
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Answer: IS

Reference 1D:(24491) TTeTd 9 SHUIRT Yead sl

B.HIIST
C.Hat
RIIE]]

Answer: C.Ha

Reference 1D:(24732) SR 516 TG!SR, HIfAHT 0T SimHE SRMUGR faHRTf FREt 3 &t S=iar
yifepTaer 25% 31w IaemH e 3nfor HifgeTar siemer 25% 31w Jahy .
U@ a fobelt o H fHesd d el

A.175,125, 216
B.150, 138, 228
C.160, 124, 232

D.180, 144, 192

Answer: D.180, 144, 192
Reference 1D:(24475) Choose the idiom that best fits into the given sentence:
My friend’s a straight forward man who believes in

A.fighting tooth and nalil

B.calling a spade a spade



Answer:

Reference 1D:(24494)

Answer:

Reference 1D:(24479)

Answer:

C.drives the last nail into the coffin

D.loving his enemy

B.calling a spade a spade
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